18. From the following balance sheet compute gross working capital

and Net working capital.

Liabilities Amount Assets Amount
Share capital 9,00,000 Fixed assets 7,00,000
Reserves " 1,00,000 Current assets :

Current liabilities: Cash _ 60,000
Bank loan 1,00,000 Investments 1,00,000
Creditors 60,000 Debtors 1,40,000
Bills payable 40,000 Inventory 2,00,000

12,00,000 12,00,000

spsar. @ouyfloe GALON@EE CLrss poLWoD WSD
wHpb Fsy paLpapn (Psme SamsdlLaib.

QUi EaT Qgrens QanggEaaT Osnens
LRIGAPSD 9,00,000 Hew Qsmpgsser 700000
sy L 00000 T Qe A e
Bl Qurgitiysar Qyréewd 60,000
Qi) Hieim 1,00,000 | W5SH i " 1,00,000
sLefpGariser 60,000 sLamflser 1,40,000
Qe@isaspeiu wrpps SO 40,000 #TEHGUY 2,00,000

12,00,000 12,00,000

19. A project cost Rs. 20,00,000 and yield annually a profit of
Rs. 3,00,000 after 'depreciation at 10% but before tax‘of 50%.
Calculate the pay-back period.

S wHnSG @. 20,00,000, 10%, GzuwrasHneE Ger 50%
@ @per @mh eu@BLTaTDd . 3,00,000 @b, SHmbu
Qeggib stosmss sansdHs.

¢
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SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

20. What are the various functions of financial management?
B Cuaramenwulen uaGeug Leanflser wreane ?

21. Following information is available with regards to the capital
structure of Edwards Ltd:
Amount After tax cost of capital %

Rs.
Debentures 12,00,000 5%
Preference share capital 4,00,000 10%
Equity share capital 8,00,000 15%
Retained earnings 16,00,000 12%
You ‘are required to calculate weighted average cost of capital
(WACC).
Qeeu(pLd SHeUDEET eTL aUiTL FlmicuaTSHlen ppSET eLOLILIMEGLD.
Qgrens auflég (e
! - (M. . LGS oL 55 agn %
sL6i USSghisedr 12,00,000 5%
wpargifion LkEWsS  4,00,000 10%
Gpaniols LUBIGLPED 8,00,000 15%
BEEMeUSSLILILIL a@Lreand 16 00,000 12%

el iul L gynef] epogear L ssD sansSHs.
22. Details regarding three companies are given below:
N Ltd M Ltd G Ltd
r=18% r = 20% r=8%
k=15% k=20% k=10%
E=Rs.30 E=Rs. 40 E=20%
}3y using Walter’s model, you are required to

(a) .Calculate the value of an equity share of each of these
companies when dividend payout is

@  30%,
(i) 60%,
(i) 100%
(b) Comment on the results drawn.
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23.

epern Hpeuamhseian eleurmser G gruuL Hieterg.
N Ltd M Ltd G Ltd
. r=18% r = 20% r=8%
k=15% k=20%' k=10%
E=Rs.30 E=Rs. 40 - E=20%
e wrdfleow uweau@ss, Sparanib apuisd sarsdHs.
(1) @euGaeur ﬁ]gjmsmgg]m Gpirenwolt LkiGseflar ALy HmID
UiisTgmUb Qegsgih Ngn
@ 30%,
@) 60%,
(iii) 100%
() sGES (PR WPTUDSE SOS-
You are required to estimate its working capital r;zquirements
from the following dat4; ;
Rs. 9,00,000

Projected annual sales
Percentage of net profit to cost of sales . 20%
Average credit allowed to debtors 1 month
Average credit allowed by creditors 2 months
\ Average stock carrying
- '(in terms of sales requirements) 2 %months

Add 10% to allow for contingencies.

Epsrgpb edeurhsmer Qarear® paLap gposar Csameusamer
SaTES (HE. :

'é;]l'_I_L&L.l'Jl;II'_lL LB T eflibueanen a5. 9,00,000
SL&s dpuamanied flar eoru ssellflsbd 20%
sLenmafl&EndEE ‘;urr&rﬂu_lrra; ‘QJQG?SGS/L'ILJLI_-SSH'GUL'D 1 g
sLafpCs aupridlu syrefl sraw - 2 LTGBIGET

Fr&E\(mLL \&Urr&rﬂu_lrra; Qeg) 551560
(Qﬁl,fj)ucbarr Caeneuuden a{up;lus;m_uﬁlcb) 2 %Lorrg,rg‘mm
ghQswers Cpmb OQewes@rssts 10 sseisb Goidg
S@wsEsLnHEng.
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16.

17.

Find out the operating leverage from the following data.

Sales Rs. 50,000

Variable cost 60%

Fixed cost Rs. 12,000.

QsTH&sLILLL  SSOSMmETs Qaran®  @Quiig OpbuGsre

sausSlLaLb.

cdpLener ¢m. 50,060

LI LUHLD Q&;Dmasc'ﬂ 60%

fleavawrear dgmeyser @p: 12,000

The following data felates to Y’ 1td.
Earnings per share — Rs. 14°
Capitalization rate — 15%

Rate of return ~ 20%

Determine the market price per share under Gordon’s model if

retention is

(a) 40%;
(b) 60%; - »
() 20%.

Qemeu(pLIamE v ﬁlgjaqeﬂg,ﬁsh SEHEUDSET

@ unidler au@boread — 5. 14

epaganownnésd ddsn — 15%
S ez — 20%

sriLer wrdfar §p @@ ukdar shs wWHlMU SbasMaSHD
pepuied Siromelssab.

(S1) 40% ; -
(2p) 60%;
(@) 20%. \
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11. What do you understand by ‘Capital Budgeting Process’? . . 24. Manikandan Ltd. is considering a proposal for the investment of
Rs. 6,50,000 on product development which is expected to

) -Qewey HLb Qewudupapnanw weurm LMl
G pdl- alisagelal oL REL e b ediang Ufipe generate net cash inflows for 7 years as under.

Qsmardlpmu ?
‘ Year Cash inflows

12. What is pay-back period? 1 Nil
AL QeQissId ST GTETDHTED 6Temar ? 2 2,00,000
SECTION B — (5 % 5 = 25 marks) R b,
. 4 2,50,000

Answer any FIVE questions. ( 5 3,00,000 «

13. Explain the objectives of financial management. 6 4,00,000
' ‘ 7 5,00,000

58 Cuoararenwuler Crréshiamer 6ensEs.

The following table gives the present value of Re. 1 due in ‘n

14, Calculate the present value of the following inflows if the rate of | number of years.
interest is 10%. : . Year 1 o 4 Boa o 7
Year 1 2 3 ., 4 -5 P.V. factor@ 15% 0.870 0.756 0.658 0.572 0.497 0.432 0.376
Amount (Rs.) =~ 5000 6000 7000 8000 9000 The company s cost of capital is 15%. Ascertam the net present
value.
0, L : 5
F.V. aktor gt IOA) 290 '826‘ "{51 A ol wenisamer NG GQuirmer GLDLDLJITI_LL]_GUT Bs @ 6,50,000
SpaseTL urSgisehien epeLD §,r_r)(§urr66)§,u_1 wHumL saTsHHs el Ly adlgpsre  gm Hllsms sosde  Qsta() @de 7
L TG DESTS ;ﬁlaaij LiGaor surjmasm 2 (HANS@GISHE SPaIHLOTD)
Nz 10%. : erglftumiésiupSns).
S LD el 2 3 4 5 | @@ ey v eugey
Qsmens (5.) 5000 6000 7000 8000 9000 1 Nil
spGUTesL LHUL 909 826 751 .683 .621 28 e g 00:000 ”
smryenf] 10% s 3 2,25,000
X 4 2,50,000
15. A company offers for public equity shares of Rs. 10 each at a 5 3.00.000
premium of 10%. The company pays 5% of the issues price as X 4’00’000
underwriting commission. The rate of dividend expected by =
equity shares is 20%. 7 5,00,000
You are required to calculate the cost of equity wills your cost be : : iig‘-’ gl i TUWH‘E;“ '—C']WZ’J@LD'T?- ) . .,
different if the market value of equity share is Rs. 15, <
S ‘ : ; gmGunmg,m LDQLIL{ 0 870 0.756 0.658 0.572 0.497 0.432 0.376°
@@ Hpeiand . 10 wHolerer Gpiendl Uki@GSmeT 10% smyafiser 15%
pwawided GaeflGAps. SgHG TWwssnd sbeger 5%
Qauellic@ elmawns smang. THiumisED Cpitenwd LiI@saflem 35&%60&6%?5 fgmal—w;& QEGDQ" 15% 0. fay spCumosu

l.Il'EJ&ﬂ'gﬂ'U.ILD 20%.

SLsssHar wINGAD @ undedr BLUL FHog Loﬁuq . 15,
SNELLIEIE (PSD DL ESENG Smsd(Ha. ,
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Time : Three hours

10.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define financial management.

fH Goaramend Qessamrd SHs.

What is Compound value of r;loney? ‘

Lienr gl () W&l eTempmed eTebre ?

Write.short note on ‘Risk and Return’.

Ap GOUY euenys ‘@usg LHmIb Hmbu GupF’.

What is cost of capital?

gpasaisdlen gnar Geewa| eremmmed creimen ?

What do you mean by optimum capital structure?

CUTEILOTET aTay APOSET S@LOLILY aehuéssh QUFI:@dT GTEoTEu ?

Write note on financial leverage.

PHuGwed QpoLCamed eretugen Ap GHLIY SMHS.

What do you mean by dividend policy?

CUBETSTWS GsnaTend eremuSen QUT@HeT Wrena ?

Give the formula Walter’s model.

aumeL it wrdfluder swemuT® Shs.

What is operating cycle?

QFEwdpenD HPOWEND CTETDTE GTETem? -

Define working capital.

BOLPDD (PSD QESMILD S(1HS.

Maximum : 75 marks

Blom (@) > Fahaniad Maragimk
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